ORDINANCE BILL NO. 21 FOR 1949

ORDINANCE NO. 701

A BILL FOR AN ORDINANCE LEVYING AGAINST THE PROPERTY ESPECIALLY BENEFITTED THEREBY, ASSESSMENTS FOR THE COST AND CONSTRUCTION OF STORM SEWERS WITHIN THE DRAINAGE DISTRICT DESCRIBED AS FOLLOWS: BEGINNING AT THE INTERSECTION OF THE CENTER LINE OF PARK STREET WITH THE NORTH LINE OF GRANT STREETAND RUNNING THENCE EAST ALONG THE NORTH LINE OF GRANT STREET TO THE LEBANON-SANTIAM CANAL: THENCE FOLLOWING ALONG THE WEST BANK OF SAID CANAL TO THE SOUTHEAST CORNER OF BLOCK 5, PARK ADDITION: THENCE NORTH ALONG THE EAST LINE OF SAID PARK ADDITION TO THE SOUTH LINE OF KIRKPATRICK'S THIRD ADDITION: THENCE EAST ALONG THE SOUTH LINE OF KIRKPATRICK'S THIRD ADDITION TO THE SOUTHEAST CORNER OF BLOCK 5 OF SAID ADDITION: THENCE NORTH ALONG EAST LINE OF SAID BLOCK 5 TO THE SOUTH LINE OF ISABELLA STREET, THENCE EAST ALONG THE SOUTH LINE OF ISABELLA STREET TO THE EAST LINE OF SANTIAM STREET: THENCE NORTH ALONG THE EAST LINE OF SANTIAM STREET TO THE CITY LIMITS: THENCE IN A NORTH-WESTERLY DIR**BG**TION ALONG SAID CITY LIMIT LINE, TO THE NORTH LINE OF BLOCK 4, KIRKPATRICK'S THIRD ADDITION: THENCE WEST TO THE CENTER LINE OF PARK STREET: THENCE SOUTH ALONG THE CENTER LINE OF PARK STREET TO THE PLACE OF BEGINNING, AND DECLARING AN EMERGENCY:

WHEREAS, the Common Council of the Gity of Lebanon by Resolution No. 12 passed on the 18th day of May, 1948 and approved by the Mayor adopted the area above described as a drainage district designating the same as Drainage District No. 1 and approved plans and specifications and estimates for the drainage of said district filed by the City Engineer and directed the City Recorder to cause notice of intention to make said improvements in the manner provided by the Charter of the City of Lebanon.

WHEREAS, pursuant to the order of the City Council the 'ity Recorder of the City of Lebanon, cassed notice of intention to make said improvements to be published in the Lebanon Express, the official newspaper, of the Gity of Lebanon, in the manner provided by the Charter of said City, proof of the publication of said notice now being on file herein, and the time for remonstrance having elapsed without any thereof having been made against said improvement, and it then appearing unto the said Council that said improvement should be made, the said Council did, by Ordinance No. 669 passed by the Council and approved by the Mayor on the 15th day of June, 1948, duly establish and declare its jurisdiction to make said improvements and ordered thet the same be done by contract, to be awarded to the lowest responsible bidder and that the Recorder publish for ten (10) days a notice inviting proposals for the making of said street improvements, referring in said notice to the plans and specifications therefore filed in her office, and the time when said work shall be completed, and

WHEREAS, the City Council did by said Ordinance order that the work be commenced not later than 15th day of August, 1948, and be completed not later than the 15th day of September, 1948, and that it be done in the manner provided by the plans,/specifications theretofore filed by the City Engineer, and approved by the Council and that the contractor be subject to the penalties and default for failure to complete said work in the manner, and within the time frovided in his contract with the City, and that he shall indemnify the City by a bond in an appropriate amount with a surety or sureties approved by the Council for faithful and prompt performance of his contract, and for the failute, payment of damages thereof in a sum or sums provided in said contract, and

WHEREAS, pursuant to said order the City Recorder caused to be published in the Lebanon Express "Notice Inviting Proposals for the Making of Said Sewer Improvements" in the manner required by the Ordinance and the Charter of the City of Lebanon, proof of the publication of said notice now being on file herein, and

WHEREAS, upon the expiration of the time required by the Charter for the submission of bids, the bids received by the City Recorder for the making of said sewer improvements were opened, and submitted to the City Council and the Warren Northwest, Inc., a responsible bidder having submitted the lowest bid, was awarded the contract for making said improvements.

WHEREAS, the said work and improvement has been completed and approved, having been doen in accordance with the Charter and Ordinance of the said ^City of ^Lebanon, and the cost of said work and improvements has been determined.

NOW, THEREFORE, THE PEOPLE OF THE CITY OF LEBANON DO

ORDAIN AS FOLLOWS:

Section L. That the cost of said work and improvement to be borne by the property owners abutting upon and adjacent to the streets included within the Drainage District No. I, is \$ //8/3.6.

Section II. That the proportionate share of said cost of said work and improvement to be borne by the real property especially benefitted thereby and to be assessed therefor is hereby declared to be the amount set immediately after the deparate description of each lot or tract of and hereinafter stated, and each of said lots or tracts of land is determined and declared to be benefitted by said improvement in the sum equal to or greater than the amount assessed thereto hereinafter; and each of said lots or tracts of land should be, and the same hereby is, assessed for its proportionate share of the cost of said improvement, in the sum set opposite the description thereof, tow-wit: A. M. & VALLEY POWELL (151-68)

Lets 3 & 4, Block 3, Kirkpatricks Addition to the City of Lebanon.

Dránage	235.25' frontage	@ 0.416	97.86
		Paid	<u>97.86</u> <u>-97.86</u>
		Balance	

5. D. & ZELDA STRINGER (183-429)

The South 60' of Lot 4, Block 3, Kirkpatricks Addition to the City of Lebanon.

Drainage	60' frontage	@ 0.416	24.96
		Paid	24.96
		Balance	

MARTIN & NETTIE HAINZ, (171-5) LEONARD & MELVIN HAINZ

Let 1, Block 3, Kirkpatricks Addition to the City of Lebanon.

Drainage	225. frontage	@ 0.416	93.60
	- Andrew Contraction of the second	Paid	
		Balance	* ()

VINA STURTEVANT (145-524)

Let 2, Block 3, Kirkpatricks Addition to the City of Lebanon.

Drainage	70.25' frontage	@ 0.216	29.22
		Paid	29.22
		Balance	

JOHN H. & AGATHA V. THOMA (200-647)

Lots 5 & 6, Block 4, Kirkpatricks Addition to the City of Lebanon.

Drainage	291' frontage	@ 0.416	121.06
		Paid	
		Balance	ESOUR -

FRED H. & IONE E. STEGEMAN (181-469)

Lot 7, Block 4, Kirkpatricks Addition to the City of Lebanon.

Drainage	66' frontage	@ 0.416	27.46
	and the second second	Paid	17.46
		Balance	

BOYDE & NEVA YOUNG (140-37)

Lot 8, Block 4, Kirkpatricks Addition to the City of Lebanon.

Drainage	225' frontage	@ 0.416	93.60
		Paid	110 -
		Balance	

CHARLES R. GOSNEY (185-39)

Beginning at the Northwest corner of Lot 1; Block 4, Kirkpatricks Addition to the City of Lebanon: thence East 60'; thence South 66'; thence West 60'; thence North 66'; being the West 60' of Lot1.

Drainage	60' Frontage	@ 0.416	24.96
		Paid Balance	

T. D. & DOROTHY ENEARL (169-291)

Lot 1, Block 4, Kirkpatricks Addition to the City of Lebanon.

Drainage	165.25' frontage	@ 0/416	68.74
		Paid	
		Balance	

CLAUDE & MARY MILLS (186-836)

Lot 2, Block 4, Kirkpatricks Addition to the City of Lebanon.

Drainage	66.251	frontage	@ 0.416	27.56
1412 · 1			Paid Balance	And the second

ELMER & MINERVA J. FITZGERALD (146-541)

1.

The North 50' of Lot 3, Block 4, Kirkpatricks Addition to the City of Lebanon.

Drainage	50' frontage	@ 0.416	20.80
		Paid	20.80
		Balance	

STANLEY I. & EDNA B. STEWART (177-553)

The West 70' of the South 16' of Lot 3 and the West 80' of Lot 4, Block 4, Kirkpatricks Addition to the City of Lebanon.

Drainage	70' frontage	@ 0.416	29.12
		Paid	29.13
		Balance	

ADDIE B. DAVIDSON (Assessors)

Lots 3 & 4, except the North 50' of Lot 3, and except the West 70' of the South 16' of Lot 3, and except the West 70' of Lot 4, Block 4, Kirkpatricks Addition to the City of Lebanon.

Drainage	171.5' frontage	@ 0.416 Paid	71.34
		Balance	

PRESLEY M. & LYDIA L. GOSNEY (157-451)

Lets 5 & 6, Block 5, Kirkpatricks Addition to the City of Lebanon.

Drainage	172.25' frontage	@ 0.416	71.66
		Paid	71.66
		Balance	

ELMER & MINERVA J. FITZGERALD (168-75)

Beginning at the Southwest corner of Lot 6; Block 5, Kirkpatricks Addition to the City of Lebanon; thence East 106'; thence North 66'; thence West 106'; thence South 66' to the place of beginning.

Drainage	66.25' frontage	@ 0.416	27.56
		Rid	27.56
	6	Balance	

EARL & ANNE GASKILL (158-72)

Beginning at the Northeast corner of Let 5, Block 5, Kirkpatricks Addition to the City of Lebanon; thence Westerly on the North line of said Let 53'; thence South 132' to South line of Let 6; thence East 53' to the SE corner of Let 6; thence North 132' to beginning.

Drainage	53' frontage	@ 0.416 Paid	22.05
		Balance	

STATE OF OREGON W.W.V.S.A.C. (STATE LAND BOARD) (Assessor) Mate found Board, John

Lots 7 & 8, except the East 66' of Lot 8, Block 5, Kirkpatricks Addition to the City of Lebanon.

Drainage	225.5' frontage	@ 0.416	93.81
		Paid	
		Balance	

ELMER & MINERVA J. FITZGERALD (186-319)

The East 66' of Lot 8, Block 5, Kirkpatricks Addition to the City of Lebanon.

Drainage	66' frontage5	@ 0.416	27.46
		Paid	27.46
		5 Belance	

ANNIE S. HUFFMAN (199-335)

Beginning at the Northwest corner of Lot 1, Block 5, Kirkpatricks Addition to the City of Lebanon.

Drainage	65' frontage	@ 0.416	31.20
		Paid	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
		Balance	and the second

FLOYD M. & MARGARET E. POWELL (190-635)

Let 1, Block 5, Kirkpatricks Addition to the City of Lebanon.

Drainage	150.25' frontage	@ 0.416 Paid	62.50
		Balance	

CHARLES & VIOLA POWELL (190-487)

Lot 2, Block 5, Kirkpatricks Addition to the City of Lebanon.

Drainage	66.25' frontage	@ 0.416 Paid Balance	
		Daranoo	

SIGURD PEDERSON & JACK & JESSIE N. SMITH (155-236) (&-237)

Lot 3, Block 5, Kirkpatricks Addition to the City of Lebanon.

Drainage	66.25' frontage	@ 0.416	27	1.56
		Paid		-
		Balance		

GEORGE L. & JEANETTE A. FITZGERALD (184-577)

The West 70' of Lot 4, Block 5, Kirkpatricks Addition to the City of Lebanon.

Drainage	70' frontage	@ 0.416	29.52
		Paid	
		Balance	

KAY KINCAID GREAME (196-603)

Lot 4, except West 70' of Block 5, Kirkpatricks Addition to the City of Lebanon.

Drainage	155.25' frontage	@ 0.416	64.58
		Paid	
		Balance	

ELMER & MINERVA J. FITZGERALD (Cert. 1479)

Lots 3 & 4, Block 6, Kirkpatricks Addition to the City of Lebanon.

Drainage	297.39' frontage	@ 0.416	123.71
	the second s	Paid	123.71
		Balance	

W. R. & CLARA M. SURRY (120-462)

Lots 1 & 2, Block 6, Kirkpatricks Addition to the City of Lebanon.
Drainage 300.67' frontage @ 0.416
Paid
Balance

R L & ALICE L. HOBBS (176-861)

Lots 5 & 4, Block 2, Kirkpatricks third Addition to the City of Lebanon.

Drainage	132' frontage	@ 0.416	54.96
		Paid	
		Balance	

EMMA & HARRY WELLS (127-285)

Lot 6, Block 2,	Kirkpatricks Third	Addition to the City	of Lebanon.
Drainage	66' frontage	@ 0.416	27.46
	and the second second	Paid	21.46
		Balance	

WILLIE, LESTER & MARGUERITE BARNES (161-169)

Let 7, Block 2, Kirkpatricks Third Addition to the City of Lebanon.

Drainage	225.' frontage	@ 0.416 Paid Balance	93.60

FERDINAND J. HICKEY (200-532)

The North 66' of Lot 11, Block 2, Kirkpatricks Third Addition to the City of Lebanon.

Drainage	66' frontage	@ 0.416	27.46
		Paid	27.46
		Balance	

WM. N. WATERS & VERA A. JONES (179-391)

Lots 11, 12 and 13, Block 2, Kikpatricks Third Addition to the City of Lebanon.

Drainage	357' frontage	@ 0.416	148.51
TATENT		Paid	110 10
		Balance	

NEHMIAH E. & MARIA C. COMPBELL (199-234)

Lots 3, 4, 5 & 7, excepting from Lots 5 & 7 the following; the South 66' of Lot 5 and the South 154' of Lot 7, Block 3, Kirkpatricks Third Addition to the City of Lebanon.

Drainage	110' frontage	@ 0.416	45.76
		Paid	
	and the second second	Balance	

MARION L. & LYDIA J. DOWNING (202-683)

The South 66' of Let 5, Block 3, Kirkpatricks Third Addition to the City of Lebanon. Also: Beginning on the East line of Let 7, 88' North of the South line of Let 7; thence West 66'; thence North 66'; thence East 66'; thence South 66' to beginning.

Drainage 6	661 frontage	@ 0.416 Paid	27.46
		Balance	

IDA & ORA LINN IRELAND (118-470) THEODORE DALE & ETHEL IRELAND (118-470)(203-378)

The South 154' of Lot 7, Block 3, Kirkpatricks Third Addition to the City of Lebanon.

Drainage	66' frontage	@ 0.416	27.46
		Paid	27.46
		Balance	

HUGH L. & WILLIAM L. ROGERS (151-345) PERRY L. BOGERS & HAZEL E. GILBERT P(53-599)

Let 6, Block 3, Kirkpatricks Third Addition to the City of Lebanon.

Drainage	181' frontage	@ 0.416	75.30
		Paid	75:30
		Balence	

ALBERT G. & ANNA BAZANT (176-671)

Lot 11, Block 3, Kirkpatricks Third Addition to the City of lebanon.

Drainage	66' frontage	@ 0.416 Paid Balance	27.46

D. I. & VERA M. MERRITT (183-547)

Lot 12, and the North 14' of Lot 13, Block 3, Kirkpatricks Thirds Addition to the City of Lebanon.

Drainage	80' frontage	@ 0;416	33.28
- Cartonica -		Paid	33.28
		Balance	

WALTER W. & CHESLAH M. YOUNG (202-22)(146-268)(146-269)

Beginning 16' South of the Northeast corner of Lot 13; thence West 159'; thence South 50'; thence East 159'; thence North 50' to the place of beginning. Beginning 50' North of the Southwest corner of Lot 13; thence East 159'; thence North 2'; thence West 159'; thence South 2'; to beginning, of Block 3, Kirkpatricks Third Addition.

Dráinage	52' frontage	@ 0.416	21.63
		Paid Balance	

ORA J. SHERMANP(58-120)

The West 1/2 of Lot 14, Block 3, Kirkpatricks Third Addition to the City of Lebanon.

Drainage	145' frontage	@ 0.416	_60.53
		Paid	60.53
		Batance	

L. M. & J. E. FOWLER (142-382)

Lot 14, Block 3, Kirkpatricks Third Addition to the City of Lebanon.

79.5' frontage	@ 0.416	33.07
Kaughton	-Paid Credit Balance	33.07 16.54 16.53
	79.5' frontage	

SEMER J. & MARGARET M. DOWNING (192-759)

Beginning at the Northwest corner of Lot 1, Block 1, Kirkpatricks Third Addition to the City of Lebanon; thence East on the North line 93' to the Northwest corner of a tract deeded by (176-505); thence South along the West line of Bilyeu Street 72'; thence West parallel with the North line of said Block 93'; thence North 72' to the place of beginning.

Drainage	165. ' frontage	@ 0.416	68.64
		Paid Balanc e	

SARAH E. BILYEU (176-505)

Beginning 70' Northeast corner of Lot 2, Block 1, Kirkpatricks Third Addition to the City of Lebenon; thence South 94'; thence West 39' thence North 94'; thence East 39' to beginning.

Drainage	39' frontage	@ 0.416	16.22
		Paid	16.22
		Balance	

HOWARD S. & CHARLOT T. CAMERON (176-253)

See A Cowan's Addition Block 1,.

L. M. & J. E. FOWLER (153-198)

Lot 3, 4 & 5, Block 1, Kirkpatricks Third Addition to the City of Lebanon.

Drainage	342.38' frontage	@ 0.41 Paid		142.43
		6 Balanc	e	

FERDINAND J. & MARY E. HICKEY (166-262)

The North 132' of Lots 1 & 2, Block 1, Kirkpatricks Third Addition to the City of Lebanon.

Drainage	60' frontage	@ 0.416	_2	
		Paid	7	
		Balance	-	

ROY R. JR. & VIRGINA E. WINSTEAD (187-275)

Beginning at the Northwest corner of Lot 1, in Block 4, Kirkpatricks/Addition to the City of Lebanon.; thence East on the North line of said Lot 180'; thence South 80'; thence West 180'; thence North 80' to the Blace of beginning.

Third

Drainage 80' frontage	@ 0.416 Paid Balance
-----------------------	----------------------------

LYLE M. SWANSON (175-73)

Beginning 80' South of the Northwest corner of Lot 1, Block 1, Kirkpatricks Third Addition to the City of Lebanon; thence East 180'; thence South 60'; thence West 180'; thence North 60' to the place of beginning.

Drainage	60'	frontage	@ 0.416	24.96
			Paid	
			Balance	

VIRGIL WM. & NELLIE MAE HORTON (176-555)

Beginning at the Southwest corner of Lot 1; Block 4, Kirkpatricks Third Addition to the City of Lebanon; thence East 55'; thence North 124'; thence West 55'; thence South 124' to the place of beginning.

Drainage	179' frontage	@ 0.416 Paid Balance	74.46
		Datance	

JAMES J. & HAZEL A. MAGEE (165-485)

Beginning at the Southeast corner of Lot 1, Block 4, Kirkpatricks Third Addition to the Ciy of Lebanon; thence West 125'; thence North 124'; thence East 125'; thence South 124' to beginning.

Drainage	125' frontage	@ 0.416	52.00
		Paid	
		Balance	

WALTER F. & RUTH S. JANKE (185-197)

Lots 2 & 3, Block 4, Kirkpatricks Third Addition to the City of Lebanon.

Drainage	160'	frontage	@ 0.416	66.56
			Paid Balance	

CALLIE & MILES CRUSING (141_102)

Lot 7 and: Beginning at the Southwest corner of Let 7, Block 4, Kirkpatricks Third Addition to the City of Lebanon; thence West 37'; thence North 264'; thence East 37'; thence South 264'; to the place of beginning and being the East 37' of Let 6. Also; Lots 4 & 5 and West 43' of Let 6.

Drainage	438.' frontage	@ 0.416 Paid Balance	182.21
		Darance	

ANNIE E. CLEM (Assessor)

Lots 1, 2, 3 & 4, Block 5, Kirkpatricks Third Addition to the City of Lebanon.

Drainage	264.º frontage	@ 0.416	109.82
		Paid Balance	

HARRY W. & ALICE JUDD (179-665)

Lot 5 and the West 14' of even width off Lot 6, Block 5, Kirkpatricks Third Addition to the City of Lebanon.

Drainage	80' frontage	@ 0.416	33.28
		Paid Balance	

A. L. & MINNIE E. WATTERS (166-230)

Beginning at the Northeast corner of Lot 7, Block 5, Kirkpatricks Third Addition to the City of Lebanon; thence East to the said canal to where it the canal; thence Southwesterly along the center line of said canal to where it interesects the Eastern continuation of the South line of Block 5; thence West to the Southeast corner of Block 5; thence North to the place of beginning. Also Lots 5, 6 and 7 in Block 5.

Drainage	216' frontage	@ 0.416	89.86
a contraction of the second		Paid	27.94
		Balance	

A. L. & LAURA A. PORTER (159-86)

Lot 3, Block 1, Cowans Addition to the City of Lebanon.

Drainage

66.25' frontage

@ 0.416 Paid Balance



BERT L. & MAGDALENE CONNET (151-524)

Lot 4, Block 1, Eowans Addition to the City of Lebanon.

Drainage	225.25' frontage	@ 0.416 Paid	93.70
		Balance	

W. E. HARDEN (171-437)

,

The West 55' of Lot 2, Block 1, Cowans Addition to the City of Lebanon. Als; (Assessor Ownership) Lot 1 and the East 104' of Lot. 2.

Drainage	285.25' frontage	@ 0.416 Paid	118,66
		Balance	

ANISE E. COOPER (119-382) HARVEY C. COOPER

Let 5, Block 2, Cewan's Additon to the City of Lebanon.

Drainage	225.25' frontage	@ 0.416	93.70
		Paid	
		Balance	

MYRTLE A. MAYER CLEMENT E. TURNIDGE & MABBEE G. CURTIS (169-663)

Let 6, Block 2, Cowans Additon to the City of Lebanon.

Drainage	66.25' frontage	@ 0.416	27.56
and the second second		Paid	
		Balance	

C. L. & MARIE CONNER (159-472)

Let 7, Block 2, Cowans Addition to the City of Lebanon.

Drainage	66.25' frontage	@ 0.416	. 0. 5	27.56
		Paid		
		Balance		

W. B. & DELLA I. BAHRKE (153-208)

The West 100° of	Lot 8, Block 2, Cowans	Addition to the Cit	y of Lebanon.
Drainage	166.25' frontage	@ 0.416 Paid Balance	<u>69.16</u>

CHURCH OF GOD (148-265) (151-497)

The East 59' of Lot 8, Block 2, Cowans Addition to the City of Lebanon.

Drainage	59' frontage	@ 0.416	24.54
	1	Paid	24.54
		Balance	

JOHN & CORA TURNIDGE (172-871)

The West 63' of even width off Lot 1, Block 2, Cowans Addition to the City of Lebanon.

63' frontage

Drai	na	ge
------	----	----

@ 0.416 Paid Balance

JEAN & LORAYNE BLALOCK (174-801)

The East 96' of even width off Lot 1, Block 2, Cowans Additiontto the City of Lebanon.

Drainage	162.25' frontage	@ 0.416	67.50
		Paid	
		Belence	

T. M. & MARGARET R. WHITE (191-67)

Lot 2, Block 2, Cowans Addition to the City of Lebanon.

Drainage	66.25' frontage	@ 0.416
		Paid
		Balance

GEORGE & MARGARET KACZMAREK (142-391)

The East 100' of Lot 3 & 4, Block 2, Cowans Addition to the City of Lebanon.

Drainage	232.5' frontage	@ 0.416	96.72
		Paid	<u>96.72</u> <u>96.7</u> 2
		Balance	

CLAUDE & MAXIE COX (170-335)

Beginning at the Southwest corner of Lot 4, Block 2, Cowans Addition to the City of Lebanon; thence North along the Western boundary of Lots 4 & 3 to the Northwest corner of Lot 3; thence East on the Northern boundary of Lot 3, 59'; thence South to a point 59' East of the Southwest corner of said Lot; thence West on the Southern boundary of said block to the place ob beginning.

Darainage	59' frontage	@ 0.416	24.54
a sure and		Paid Balance	

MARTHA E. WALLACE (191-509)

Beginning on the North line of Lot 5, Block 3, Cowans Addition to the City of Lebanon, beingthe Northwest corner of a tract deeded by (149-173); thence West 54' to the Northwest corner of said Lot 5; thence South along the West line of said Lot $66\frac{1}{4}$ '; to the Southwest corner of said Lot; thence East 54' to a point South of the place of beginning; thence North $66\frac{1}{4}$ ' to the place of beginning.

Drainage	108.8' f:	rontage	@ 0.416 Paid Balance	45.26
			Detence	

JAMES EDWARD & PEARL EDITH PAYNE (173-149)

Beginning at a point 100' East of the Northwest corner of Lot 5, Block 3, Cowans Addition to the City of Lebanon; thence West 45' 4", more or less, to the center of a concrete walk; thence South $66\frac{1}{4}$ ' to the South line of said Lot; thence East 45' 4", more or less, to a point South of beginning; thence North $66\frac{1}{4}$ ' more or less, to beginning.

Drainage	45.33' frontage	@ 0.416 Paid Balance	181.86
		Darance	

ALBERT M. & VALLIE M. POWELL (143-36)

Lots 5 & 6, Block 3, Cowans Addition to the City of Lebanon.

Drainage	59' frontage	@ 0.416 Paid Balance	24.54
		Darance	

EDWARD C. & INEZ B. BILYEU (200-386) (192-405) (190-521) (200-488)

Beginning 8' North of the Southwest corner of Lot 5, Blocck 3, Cowans Addition to the City of Lebanon; thence North 4'; thence East 54'; thence South 4'; thence West 54' to bhe beginning.

The South 8' of the West 54' of Lot 5. The West 100' of Lot 6.

The South 14' of the East 59' of Lot 6.

Drai	na	g	e	
------	----	---	---	--

78.25'	frontage
10.25	IIUnoage

@ 0.416 Paid Balance

32.50 32,50

MRS. E. A. BISHOP (173-337)

The West 100' of Lot 7, Block 3, Cowans Addition to the City of Lebanon.

Drainage	66.125' frontage	@ 0.416	27.51
		Paid	
		Balance	

EMMA REEVES (LIFE EST.) VERON REEVES (149-219)

Beginning 100' East of the Southwest corner of Lot 5, Block 23, J. M Ralston Addition to the City of Lebanon; thence East 59' to an alley; thence North to the Southeast corner of Lot 6, Block 3, Cowans Addition to the City of Lebanon; thence West 59'; thence to beginning, and being a part of Lot 5, Block 23, J. M. Ralstons Addition to the City of Lebanon; Lot 5, Block 27, J. M. Ralstons 2nd Addition to the City of Lebanon, and Lot 7, Block 3, Cowans Addition to the City of Lebanon.

Drainage	59' frontage	@ 0.416	25.54
		Paid	26.54
		Balance	

D. W. & EDNA E. HAMILTON (199-477)

Lots 1 & 2, Block 3, Cowans Addition to the City of Lebanon.

Drainage	291.27' frontage	@ 0.416	121.17
		Paid Balance	and a state of

JOSEPH S. NORTHRUP P(48-42) P(48-27)

Lot 3, Block 3, Cowans Addition to the City of Lebanon.

Drainage	66.14' frontage	@ 0.416	27.51
	the second s	Paid	17.51
		Balance	

L. E. & MAVIA S. GILSON (133-406)

Lot 5, Block 4, Cowans Addition to the City of Lebanon.

Drainage	225.13' frontage	@ 0.416	93.65
-		Paid	
		Belance	

BERTHA LUSCHER BOOTS (185-21)

Lot 1, Block 22, J[•] M. Ralston Addition to the City of Lebanon, Alse Block 4, Lot 6, Cowans Addition to the City of Lebanon.

Drainage	66.13' frontage	@ 0.416	27.51
		Paid	27.51
		Balance	

VICOTR J. & ALMON F. CARLSON (144-106)

The West 1/2 of theh of- Lot 7, Block 4, Cowans Addition to the City of Lebanon.

Drainage	52.66' frontage	e @ 0.416
	A REAL PROPERTY OF	Paid
		Balance

21.91

G. A. & LOUISA SOULE (151-300)

The East 1/2 of each of the following: Lot 7, Block 4, Cowans Addition to the City of Lebanon. Lot 5, Block 24, J. M. Ralstons Addition to the City of Lebanon. Lot 5, Block 28, J. M. Ralstons Addition to the City of Lebanon.

Drainage	79.51	frontage	@ 0.416 Paid Balance	33.07
			Darance	

S. E. MYERS W(6-595)

Lots 1 & 2, except the East $\frac{1}{2}$ thereof, Block 4, Cowans Addition to the City of Lebanon.

Drainage	79.5' frontage	@ 0.416 Paid	33.07
		Balance	

G. R. & VIOLA C. HEWETT (160-7)

The East 1 of Lots 1 & 2, Block 4, Cowans Addition to the City of Lebanon.

Drainage	212' frontage	@ 0.416 Paid	88.19
		Balance	

NORMAN E. IRVINE (133-183)

Lot 3, Block 4, Cowans Addition to the City of Lebanon, Lot 1, Block 24, J. M. Ralstons Additon to the City of Lebanon. Lot 1, Block 28, J R. Ralstons 2nd Addition to the City of Lebanon.

121.26

JOHN F. & MILDRED D. BAXTER (160-597)

The East 1/4 of Lots 3, &4, Block 5, Cowans Addition to the City of Lebanon.

BERNARD & ELIZABETH MICHELS (140-586)(105-602)

Lots 5 & 6, Block 5, Cownans Addition to the City of Lebanon.

Dranage	291.5' frontage	@ 0.416	121.26
		Paid	121,26
		Balance	

BAPTIS CHURCH (W B & Della V Holbrook) (153-502)

Lots 7 &8, Block 5, Cowans Addition to the City of Lebanon.

Drainage	291.5' frontage	@ 0.416	121.26
	and the second second	Paid	121.26
		Balance	

D. E. & ELSIE M. VANATTA (174-735)

Let 1, Block 5, Cowans Addition to the City of Lebanon.

Drainage	225.25' frontage	@ 0.416 Paid	93.70
		Balance	

JOHN A. & LEATHA V. RUST (180-331)

Let 2, Block 5, Cowans Addition to the City of Lebanon.

Drainage	66.25' frontage	@ 0.416	27.56
		Paid	
		Balarce	

E. E. & FLORENCE JORDAN (171-523)

The West 불 of	Lot 3 & 4, Block 5,	Cowans Addition to t	he City of Lebanon.
Drainage	37.5' frontage	@ 0.416 Paid	<u>15.60</u> 15.60
		Balance	

H. M. & JULIA E. WATERSTON (195-379) Josephine Shows

The East 42' of the West $\frac{1}{2}$ of Lots 3 & 4, in Block 5, Cowans, Addition to the City of Lebanon.

Drainage	42' frontage	@ 0.416	17.47
		Paid	17.47
		Balance	

ELMER & MINERVA J. FITZGERALD (144-3)

Lot 3, Block 6, Cowans Addition to the City of Lebanon.

Drainage	59.5' frontage	@ 0.416 P aid	24.75
		Paid	24.75
		Balance	

RILEY W. & BERTHA WEEKS (177-635)

Lot 4, Block 6, Cowans Addition to the City of Lebanon.

Drainage	225.25'	frontage	@ 0.416	93.70
			Paid	93.70
			Balance	

0. M. & LEMA M. STEVENSON (158-118)

The West 79' of even width of Lots 1 & 2, Block 6, Cowans Addition to the City of Lebanon.

Drainage	79' frontage	@ 0.416	32.86
	and the second second	Paid	32.86
		Balance	

RALPH D. & ALICE G. GILSON (159-538)

The East 80' of even width of Lot 1, Block 6, Cowans Addition to the City of Lebanon.

Drainage	57' frontage	@ 0.416	23.71
		Paid	
		Balance	

RICHARD N. & VELMA L. MORPISON (172-163)

The East 80' of Lot 2, Block 6, Cowans Addition to the City of Lebanon.

Drainage	146.25' frontage	@ 0.416 Paid	60.84
		Balance	

HOWARD S. & CHALOT T. CAMERON (176-253)

Beginning on the West line of Lot 5, 70' North of the Southwest commer of said lot, Block 1, A. Cowans Addition to the City of Lebanon; thence North on the West line of Lot 5 & along the West line of Lot 1, Block 1, Kirkpatricks 3rd Addition to the City of Lebanon, 61.3'; thence East 66'; thence South 61.3' to point East of beginning; thence West 66' to beginning.

Drainage	61.3' frontage	@ 0.416	25.50
		Paid	
		Balance	

W. R. SURRY (123-273)

Lots 4 & 5, Block 1, A Cowans Addition and $8\frac{1}{2}$ ' off the Southend of Lots 1 and 2, Block 1, Kirkpatricks 3rd Addition to the City of Lebanon.

Drainage	136' frontage	@ 9.416 Paid	_56.58
		Balance	

BEORGE R? & GRACE C. SURRY (164-374)(164-253)

Lot 4, Block 1, A Cowans Addition to the City of Lebanon, Also: 8¹/₂ off the South end of Lot 2, Block 1, in Kirkpatricks 3rd Addition to the City of Lebanon.

Drainage	66' frontage	@ 0.416 Paid Balance	_27.46

L. M. & J. E. FOWLER (142-308)(175-687)

Lots 1 & 2, Block 1, Cowans Addition to the City of Lebanon; Lot 3, Block 1, Cowans Addition to the City of Lebanon.

Drainage	318.6' frontage	@ 0.416	132.54
		Paid Balance	

HENRY E. & MAGGEE FIELDS (152-413)

Lots 3, 4 & 5, Block 2, A Cowans Addition to the City of Lebanon.

Drainage	264.5' frontage	@ 0.416	110.03
		Paid	
		Balance	

W T. & FANNIE M. SMITH (164-357)

Lot 3, Block 2, A Cowans Addition to the City of Lebanon.

Drainage	66' frontage	@ 0.416	27.46
-		Paid	
		Balance	a sector to be a sector of the

WALTER K. & GLADYS POWELL (202-655)

The North 1 of Lots 1 & 2, Block 2, A Cowans Addition to the City of Lebanon.

Drainage	198.25' frontage	@ 0.416	82.47
		Paid	
		Balance	

ADALINE M. VOGEL (152-509)

The South $\frac{1}{2}$ of Lots 1 & 2 and all of Lots 9 & 10, Block 2, A Cowans Addition to the City of Lebanon.

330.75' frontag	e @ 0.416	137.59
	Paid	137.57
	330.75' frontag	

ROBERT & LUCILLE MYERS (184-141)

Lot 6, Block 2, A Cowars Addition to the City of Lebanon, Also; Beginning 50' West of the Southeast corner of Lot 7, Block 2, A Cowars Addition to the City of Lebanon; thence West 16' to the Southwest corner of Lot 7; thence North $132\frac{1}{2}$ ' to the Northwest corner of Lot 7; thence East 16' to point North of beginning; thence South $132\frac{1}{2}$ ' to beginning.

Drainage	214.5' frontage	@ 0.416	89.23
		Paid	<u>89.23</u> <u>87.23</u>
		Balance	-

ROY F. & RUTH A. WEEKS (151-400)

Beginning 50' West of the Southeast corner of Lot 7, Block 2, A Cowans Addition to the City of Lebanon; thence West 16'; thence North $132\frac{1}{2}$ '; thence East 16'; thence South $132\frac{1}{2}$ ' to the place of beginning. Also: (Assessors Owner ship) East 50' Lot 7.

Drainage	50' frontage	@ 0.416	20.80
		Paid	20.80
		Balance	

FRANK & MARIE ANDERLIK (163-307)

Lot 8, Block 2, A Cowans Addition to the City of Lebanon.

Drainage	66' frontage	@ 0.416 Paid Balance	27.46
		Datance	

EDWIN W. & MILA A. NELSON (150-327)

The North 125' of Lot 5, Block 3, A Cowans Addition to the City of Lebanon.

Drainage	128.5' frontage	@ 0.416	53.46
		Paid	
		Balance	

E. G. HORN (200-587)

Beginning 621: South of the Northwest corner of Lot 5, Block 3, A Cowans Addition to the City of Lebanon; thence East 66', more or less, to the East line of Lot 5; thence South $62\frac{1}{2}$ '; thence West 66' to the East line of Williams Street; thence North $62\frac{1}{2}$ ' to beginning.

Drainage	62.5' frontage	@ 0.416 Paid Balance	26.00
		Balance	

CHESTER WARNER (179-767)

Block 3, and the West 14' of Lot 3, Block 3, A Cowans Addition to the City of Lebanon; except the South 60' of the West 14' of Lot 3, Block 3.

0' frontage	@ 0.416	22.60
	Paid	33.28 33.25 30.00
	Balance	3.28
		Paid

DELMAN F. & ROWENA LARKIN (177-287)

The South 60.25' of Lot 5 and the South 60' of Lot 4 and the South 60' of the West 14' of Lot 3, Block 3, A Cowans Addition to the City of Lebanon.

Drainage	60.25' frontage	@ 0.416	25.06
		Paid	
		Balance	

D. W. & JULIA WEEKS (151-55)

The West 54' of Lot 2 and the East 52' of Lot 3, Block 3, A Cowans Addition to the City of Lebanon.

Drainage	96'	frontage	@ 0.416 Paid	
			Balance	

RAYMOND W. DOWNING (129-569)

Beginning at the Northeast corner of Lot 1; thence West 88'; thence South 65'; thence East 88'; thence North to beginning. Block 3, A Cowans Addition to the City of Lebanon. Also: Beginning 65' South of the Northeast corner of Block 3; thence South 20'; thence West 88'; thence North 20'; thence East 88' to beginning.

Drainage	173' frontage	@ 0.416 Paid	71.97
		Balance	

ELDON & GEORGIA EVANS (176-776)

Beginning 85' South of the Northeast corner of Block 3, A Cowans Addition to the City of Leban; thence South 80.25'; thence West 88'; thence North 80.25'; thence East to the place of beginning.

Drainage	80.25' frontage	@ 0.416	33.38
		Paid	
		Balance	and the second second

JESTON & DOROTHY I. WOOD (195-15)

The North 60' of the Lot 5 and the West 22' of the North 60' of Lot 4, Block, Park addition to the City of Lebanon.

Drainage	60' frontage	@ 0.416	24.96
		Paid Balance	
		Duranoo	

JOE & ERMA ANTHONY (193-469)

The South 60' of Lot 5 and the West 22' of Lot 4, Block 1, Park Addition to the City of Lebanon.

Drainage	148' frontage	@ 0.416 Paid	61.50
		Balance	

ESTER C. & JOHN W. WASSON (178-219)

Lets 3, 4 and 5, Block 1, Park Addition to the City of Lebanon.

Drainage	60' frontage	@ 0.416	24.96
	and the second sec	Paid	24.96
		Balance	-

WILLIAM L. & HELEN SMYTH SETHER (187-689)

The East 50' of Lot 3, Block 1, Park Addition to the City of Lebanon.

Drainage	50' frontage	@ 0.416	20.80
Carlos and the second		Paid	
		Balance	the second se

NORVAL & LUCILE TAYLOR (200-743)

Lot 2, Block 1, Park Addition to the City of Lebanon. Drainage 66' frontage @ 0.416 Paid Balance

I. D. WARD (158-505)

Let 1, Block 1, Park Addition to the City of Lebanon

Drainage	66' frontage	 @ 0.416	27.46
		Paid	27.46
		Balance	

WARREN & VADNA S. GILL (171-71)

Let 4 & 5, Block 2, Park Addition to the City of Lebanon.

Drainage	264' frontage	@ 0.416	109.82
		Paid	109.52
		Balance	

RICHARD E. & ELVERA E. DAVIS (186-1)

Lot 3, Block 2, Park Addition to the City of Lebanon.

Drainage	66 ¹ frontage	@ 0.416	27.46
		Paid	27.46
		Balance	-

FRANK P. & NADINE GIROD (196-130)

Let 2, Block 2, Park Addition to the City of Lebanon.

Drainage	66' frontage	@ 0.416
		Paid
		Balance

27.46

CECIL BRUCE & JUNE M. SPENCER (153-362)

Let 1, Block 2, Park Addition to the City of Lebanon.

Drainage	198' frontage	@ 0.416	82.37
		Paid	
		Balance	

C. R. & DOROTHY LANTZ (200-698)

Beginning at the Northwest corner of Lot 6, Block 2, Park Addition to the City of Lebanon; thence East along the North line of Lot 6 and to the Northeast corner of the West $\frac{1}{2}$ of Lot 7; thence South 66'; thence West 99'; more or less, to the West line of Lot 6; thence North 66' to the place of beginning.

CHESTER C. & RUTH M. ELLIS (198-180)

Lot 6 and the West 1/2 of Lot 7, Block 2, Park Addition to the City of Lebanon.

Drainage	165' frontage	@ 0.416	68.64
	and the second second	Paid	
		Balance	

ANTA L. HARRIMAN (197-768)

Lot 8 and the East $\frac{1}{2}$ of Lot 7, Block 2, Park Addition to the City of Lebanon.

Drainage	99' frontage	@ 0.416	41.18
		Paid	
		Balance	

R. D. & ELIZABETH C. WADDELL (155-212)

Lot 9, Block 2, Park Addition to the City of Lebanon.

Drainage	66' frontage	@ 0.416	27.46
		Paid	27.44
		Balance	

PAUL N. & GRACE W. MCCRAEKEN (152-578)

Let 10, Block 2, Park Addition to the City of Lebanon.

Drainage	198' frontage	@ 0.416	82.37
		Paid	A CARLES AND A CARLES
		Balance	

S. M. GARLAND (High Kirkpatrick) (155-294)

Lots 6,7,8,9 & 10, Block 5, Park Addition to the City of Lebanon. Drainage 192' frontage @ 0.416 79.87

rainage	192. Irontage	@ U.410	19.81
		Paid	
		Balance	

KENNETH & LOLETA N. EICHNER (157-111)

Lot 5, Block 5, Park Addition to the City of Lebanon.

Drainage	198' frontage	@ 0.416	82.37
		Paid	<u>82.37</u> <u>52.37</u>
		Balance	

FRED S. & ELIZABETH H. MOODY (162-122)(166-228)

Lot 3 & 4, Block 5, Park Addition to the City of Lebanon.

Drainage	132' frontage	@ 0.416	54.91
Actual Section		Paid	54.91
		Balance	

MATT & MARY HOUSEN (191-541)

Lot 2, Block 5, Park Addition to the City of Lebanon.

Drainage	66' frontage	@ 0.416	27.46
		Paid	27.46
		Balance	

LEONARD & VERONICA N. THOMA (200-225) 586 E. Rose Street,

Let 1, Block 5, Park Addition to the City of Lebanon.

Drainage	66' frontge	@ 0.416	27.46
		Paid	
		Balance	

REX B. & IDA E. SMITH (158-415)

Lot 5, Block 6, Park Addition to the City of Lebanon ..

Drainage	183.1' frontage	@ 0.416	76.17
		Paid	Thatt
		Balance	

DENBIGH & LORRAINE M. FRY (200-550)

Lot 4, Block 6, Park Addition to the City of Lebanon.

Drainage	66' frontage	@ 0.416 Paid	28.46
		Balance	

HIRAM D. & NORA A. OSTERMAN (192-269)

Lots 3 & 4, Block 6, Park Addition to the City of Lebanon.

Drainage	66' frontage	@ 0.416	27.46
		Paid	
		Balance	

C. H. (JR.) & JESSIE C. RALSTON (201-576)

Lots 3, 4 & 5, Block 4, Park Addition to the City of Lebanon.

Drainage	185.' frontage	@ 0.416	76.96
and a second second	5-	Paid	
		Balance	

EDWARD & DORA C. KELLEMBURGER (165-623)

Beginning at the Souteast corner of Lot 1, Block 4, Burtanshaws Addition to the City of Lebanon; thence North 80' to the Southeast corner of Lot1, Block 3, Park Addition to the City of Lebanon; thence East 60' to the Southwest corner of Lot 5, Block 4, Park Addition to the City of Lebanon; thence North $52\frac{1}{2}$ '; thence East 200', more or less, to the center line of the Lebanon canal; thence Southwesterly along the center of said canal to the North line of Ash Street; thence West 80', more or less, to the place of beginning, save and except the right of way of canal.

8 Drainage 160' frontage @ 0.416

Paid Balance

66.56

RAYMOND W. & NETTIE DOWNING (168-717)

Beginning at the Northwest corner of Lot 5, Block 3, Park Addition to the City of Lebanon; thence South 132.5' to a point 52.5' north of the Southwest corner of said lot; thence East 66' to the East line of said lot; thence North 132.5'; thence West 66' to beginning.

Drainage	198.5' frontage	@ 0.416 Paid	82.58
		Balance	

JOHN & GRACE SWANSON (168-715)

Beginning at the Northwest corner of Let 4 in Block 3, Park Addition to the City of Lebanon; thence South $132\frac{1}{2}$ ' to a point $52\frac{1}{2}$ ' North of the Southwest corner of said Lot; thence East 66'; thence North $132\frac{1}{2}$ '; thence West 66' to beginning.

Drainage	66' frontage	@ 0.416	27.46
		Paid	27.46
		Balance	_

MARREN T. & RITA A. WALKER (171-365)

Beginning at the Northwest corner of Lot 3, Block 3, Park Addition to the City of Lebanon; thence South $132\frac{1}{2}$; thence East 66'; thence North $132\frac{1}{2}$; thence West 66' to beginning.

Drainage	66' frontage	@ 0.416	27.46
		Paid	27.46
		Balance	-

S. M. GARLAND (Assessor) R.w. Mourn

Lot 2, Block 4, Park Addition to the City of Lebanon.

Drainage	66' frontage	@ 0.416 Paid Balance	27.46
			-

OVIS 0. & ZOLA H. FORD (200-452)

Beginning at the Northeast commer of Lot 1, Block 3, Park Addition to the City of Lebanon; thence South $132\frac{1}{2}$ '; thence West 66'; thence North $132\frac{1}{2}$ '; thence East 66' to beginning and being the North $132\frac{1}{2}$ ' of Lot 1, Block 3, Park Addition to the City of Lebanon.

Drainage

198.5' frontage

@ 0.416 Paid4 Balance

82.58

ALVIN E. & GENEVIEVE L. ANDERSON (157-483)

Beginning at the Southeast corner of Lot 5, Block 4, Burtenshaws Addition to the City of Lebanon; thence North along the East line of said Lot 5 and the East line of Lot 5, Block 3, Park Addition to the City of Debanon, 132'; thence East 33'; thence South $132\frac{1}{2}$ '; thence West 33' to the place of beginning.

Lot 5, Block 4, Burtenshaws Addition to the City of Lebanon. Also: Beginning at the Southwest corner of Block 3, Park Addition to the City of Lebanon: Thence North $52\frac{1}{2}$ ' to a point equidistance between the South line of Vine Street and the North line of Ash Street; thence Easterly to the East line of Let 5 in said Block 3; thence South to the Southeast corner of Let 5; thence West to beginning.

Drainage	231.5'frontage	@ 0.416	96.30 96.30
		Paid	96.50
		Balance	-

HAROLD J. & EVA H. WHELAN (162-388) (157-155)

Lot 3, Block 4, Burtenshaws Addition to the City of Lebanon; Also: Beginning at the Southwest corner of Lot 3, Block 3, Park Addition to the City of Lebanon; thence North $52\frac{1}{2}$; thence East to the East line of said Lot 3; thence Sout to Southeast corner; thence West to beginning.

Beginning on the South line of Lot 4, Block 4, Burtenshaws Addition to the City of Lebanon; 33'; East of the Southeast corner of Lot 5, Block 4, Park Addition to the City of Lebanon; thence East 33'; thence North $132\frac{1}{2}$ '; thence West 33'; thence South $132\frac{1}{2}$ ' to beginning.

Drainage	99' frontage	@ 0.416	41.18
		Paid	
		Balance	

EDWARD L, BERTHA N. LYOD W. & MERNA FITZGERALD (200-760)

Lots 1 & 2, Block 4, Burtenshaws Addition to the City of Lebanon; Alse: Beginning at the Southeast corner of Lot 1, Block 3, Park Addition to the City of Lebanaon; thence North on the East line of said Lot $52\frac{1}{2}$ '; thence West 132'; thence South $52\frac{1}{2}$ '; to the Southwest coremer of Lot 2; thence East 132' to the place of beginning.

Drainage	184.5' frontage	@ 0.416	76.75
		Paid	76.75
		Balance	

WALTER F. & RUTH S. JANKE (202-638)

Beginning at a point 60' East of the Northeast corner of Block 2, Burtenshaws Addition to the City of Lebanon; thence East 110'; thence South $132\frac{1}{2}$ '; thence West 110'; thence North $132\frac{1}{2}$ ' to beginning.

Drainage

242.5' frontage By Jalen E. Mishlen Paid Balance

100.88 100.88

DAVID E. & NELLE REID (163-178)

Beginning 170' East of the Northeast corner of Block 2, Burtenshaws Addition to The City of Lebanon; thence East 110'; thence South $132\frac{1}{2}$ '; thence West 110'; thence North $132\frac{1}{2}$ ' to beginning.

Drainage	110'frontage	@ 0.416	45.76
		Paid	45.76
		Balance	

GALEN E. & LELA M. MISHLER (166-156)

Beginning at a point 89' East and $132\frac{1}{2}$ ' South of the NE corner of Lot 1, Block 2, Osborne Addition to the City of Lebanon; thence East 80'; thence South 52' 4"; thence W 80'; thence Notth 52' 4" to beginning.

Drainage	52.33' frontage	@ 0.416 Paid Balance	21.77
·		Durunoo	

F. B. MAYER (139-653)

Beginning at apoint 89' East and 71' North of the Southeast corner of Lot 8, Block 2, Osborners Addition; thence East 80'; thence South the center line of the Lebanon Santiam Canal; Mthence upstream to a point due South of beginning; thence North to beginning.

Beginning at a point 169' East and 71' North of the Southeast corner and 71' North of the Southeast corner of Lot 8, Block 2, Osbornes Addition to the City of Lebanan; thence East 10'; thence South the center line of the canal; thence up stream to a point South of beginning; thence North to beginning. Eacept right of way of canal.

Beginning at a point 179' East and 71' North of the Southeast corner of Lot 3, Block 2, Osbornes Addition to the City of Lebanon; thence East 15'; thence South to the center line of the canal; thence upstream to a point South of the place of beginning; thence ^North to beginning.

Drainage	144.6' frontage	@ 0.416	60.15
		Paid	
		Balance	

ANISE E. COOPER & PEARL E. ZEEK (131-538)(150-173)

Beginning at the Southwest corner of Block 1; thence East 174'; thence North 80'; thence West 174'; to Northwest corner of Block; thence South to 80' to beginning, Block 1, Osbornes Addition to the City of Lebanon.

Drainage	188' frontage	@ 0.416	78.21
		Paid	
		Balance	

L. A. & NELLIE N. SEELY (160-214)

Beginning at a point 174' East of the Southwest corner of Block 1, Osbornes Addition to the City of Lebanon; thence North 80'; thence West 66'; thence South 80'; thence East 66' to beginning.

Drainage	66' frontage	@ 0.416	_27.46
		Paid	
		Balance	

FRANK M. & MARY A. WELLS (185-85)

Beginning at a point on the North line of Ash Street 127' West of the Southeast corner of Lot 1, Block 1, Osbornes Addition to the City of Lebanon; thence North to the North line of said Block; thence East 68'; thence South to a point on the North line of Ash Street; thence West 68' to beginning.

Drainage	68' frontage	@ 0.416	28.29
		Paid	
		Balance	

VINCENT A. & MILDRED M. WORLAND (165-385)

Beginning at the Southeast corner of Lot 1, Block 1, Burtenshaws Addition to the City of Lebanon; thence North $100\frac{1}{2}$ ', more or less, to a point 20' North of the Southeast corner of Lotl, Block 3, Cowans Addition to the City of Lebanon; thence West 88'; thence South to the South line of Lotl, Block 1, Osbornes Addition to the City of Lebanon $100\frac{1}{2}$ '; thence East 88' to beginning.

Drainage	188.5' front:	age @ 0.416 6 Paid	78.42
		Balance	

CLAFENCE HUSTON (155-391)

Lot 4, Block2, Osbornes Addition to the City of Lebanon.

Drainage

207.75' frontage

@ 0.416 Paid Balance

86.42

BYRON D. & MARGARETTE SCOTT (139-102)

Let 3, Block 2, Osbornes Addition to the City of Lebanon.

Drainage	75.251	frontage	@ 0.416	31.30
			Paid	
			Balance	and the set of the set

AGNES P. COMBER (172-279)

Lot 2, Block 2, Osbornes Addition to the City of Lebanon.

Drainage	75.25' front age	@ 0.416	31.30
		Paid	
		Balance	

LEONARD R? & WILMA N. SMITH (196-363) Chuster & alice R. Lucas

> Lot 1, Block, 2, Osbornes Addition to the City of Lebanon. Lot 1, Block 2, Burtenshaws Addition to the City of Lebanon.

Drainage	75.26' frontage	@ 0.416	31.30
		Paid	
		Balance	

LENA RICHARDSON (Monroe) (162-185)

Lot 5, Block 2, Osbornes Addition to the City of Lebanon.

Drainage	207.75' frontage	@ 0.416	86.42
	the second s	Paid	
		Balance.	

W. R. & HELEN M. THOMAS (174-497)

Lot 6, Block 2, Osbornes Addition to the City of Lebanon.

Drainage	75.25' frontage	@ 0.416	31.30
		Paid	
		Balance	
LUCY MAE LINDEMAN & EUNICE WESTEK (Case No. 638)(162-96)(162-95)

Lot 7, Block 2, Osborness Addition to the City of Lebanon.

Drainage	75.25' frontage	@ 0.416	31.30
New Section 1		Paid	31.30
		Balance	

CHARLES E. & ELLA WATSON WILSON (120-228)

Lot 8, Block 2, Osbornes Addition to the City of Lebanon. Lot 2, Block 2, Burtenshews Addition to the City of Lebanon.

Drainage	236.75' frontage	@ 0.416 Paid	<u>98.49</u> <u>98.49</u>
		Balance	

EDWARD & DORA KELLEMBURGER (151-207)

Beginning 60' East from the Northeast corner of Block 26, J. M. Ralstons Addition; thence East on the South line of Sherman Street 84' thence South 90'; thence West 84' to Williams Street; thence North 90' to beginning.

Drainage	174' frontage	@ 0.416	72.38
	distant and the second	Paid	
		Balance	

E. H. & ORA M. BOHLE (144-78)

The West 84' of the following; Beginning 60' South of the Southeast corner of Lot 6, Block 2, Osbornes Addition to the City of Lebanon; thence West 151' to Williams Street; thence South 125'; thence East 151'; thence North 125' to beginning.

Drainage	35' frontage	@ 0.416	14.56
		Paid	
		Balance	

B. R. & FLORA E. HOWARD (174-645)

Beginning at a point which is 60' South of the Southeast corner of Lot 6, Block 2, Osbornes Addition to the City of Lebanon; thence West 151', more or less, to Williams Addition to the City of Lebanon; thence South 125' thence East 151'; thence North 125' to beginning. Except the West 84' thereof.

Drainange	67' frontage	@ 0.416	27.87
		Paid	
		Balnce	

GLEN L. & MARCURETTE E. TUCKER (122-503)

Beginning 107' West of the Southwest corner of the intersection of Shermanand Hiatt Street; thence West along Sherman Street $72\frac{1}{2}$; thence South parallel with Hiatt Street 150'; to the center line of the Lebanon-Santiam Canal; thence down the center line Northeasterly 87', more or less, to a point South of beginning; thence North 100' to beginning and containing a fraction of an acre. Except the right of way of a canal.

Drainage	72.5' frontage	@ 0.416	30.16
		Paid	The second second
THE K. TELL		Balance	

TOM J. & RUTH MCMULLEN (154-145)

Beginning at the Southwest corner of the intersection of ^Sherman and Hiatt Streets; thence West on Sherman Street 107'; thence South 100', more or less, to the center of the Lebanon-Santiam Canal; thence Down the center line of said canal Northeasterly 120', more or less, to apoint on the West side of Hiatt Street to a point South of beginning; thence North 55', more or less, to the place of beginning. Except the right of way of canal.

Drainage	137' frontage	@ 0.416	56.99
		Paid	
		Balance	

G. N. GILLENWATER (202-152) CLAY NICHOLS (202-223) C. R. SAGERT (202-154) CLARENCE SHIMANEK (202-156)

The West 100' of Lot 4, J. M. Ralstons Addition to the City of Lebanon.

Drainage	172.38' frontage	@ 0.416	71.71
		Paid	
		Balance	

RAYMOND & IRENE HOY (184-711)

The East 59' of Lot 4, Block 21m J. M. Ralstons Addition to the City of Lebanon.

Drainage	59' frontage	@ 0.416	24.54
	a second s	Paid	
		Balance	

MARY MCDONALD GERMANN (167-177)

Beginning at the Northwest corner of Lot 5, Block 21, J. M. Ralstons Addition to the City of Lebanon; thence 50'; thence East 94'; thence North 50'; thence West 94' to beginning.

Drainage	50' frontage	@ 0.416	20.80
	States States	Paid	20.80
		Balance	

N. C. LOWE (122-243)(135+342)

Beginning at the Southwest corner of Lot 6, Block 21, J. M. Ralstons Addition to the City of Lebanon; thence North $82\frac{1}{2}$ '; thence East 94'; thence South $82\frac{1}{2}$ '; thence West to beginning.

Drainage	176.5' frontage5	@ 0.416	73.42
	and the second	Paid	THE REAL PROPERTY OF
		Balance	

EMMA H. R. BELLINGER (125-337)

Beginning at the Southeast corner of Lot 6, Block 21, J. M. Ralstons Addition to the City of Lebanon; thence West 65'; thence North $132\frac{1}{2}$ '; to the North line of Lot 5; thence East 65' to an alley; thence South $132\frac{1}{2}$ ' to beginning and being the east 65' of Lots 5 & 6.

Drainage	65' frontage	@ 0.416	27.04
		Paid Balance	

MINNIE B. RAY (184-449)

The West 49' of Lot 1, Block 21, J. M. Ralstons Addition to the City of Lebanon.

Drainage	49' frentage	@ 0.416	20.38
		Paid	20.38
		Balance	

LUCY J. GONSTEAD (154-627)

Beginning 49' East of the Northwest corner of Lot 1, Block 21, J. M. Ralstons Addition to the City of Lebanon; thence East 36'; thence South 72.25', more or less, to the South line of Lot 1; thence West 36' to a point 49' East of the West line of Lot 1; thence North 72.25' to beginning.

Drainage	36'frontage	@ 0.416 Paid	14.98
		Balance	

CLIFFORD C. & OLLIE S. CLARK (164-240)

Beginning at the Northeast corner of Lot 1, Block 21; J. M. Ralstons Addition to the City of Lebanon; thence West 74'; thence South 72.25', more or less, to the South line of Lot 1; thence East 74'; thence North 72.25', more or less, to beginning and being the East 74' of Lot 1.

Drainage	146.3' frontage	@ 0.416	60.86
		Paid	
		Balance	

G. L. & CLARA E. ALEXANDER (150-311)

Lot 2, Block 21, J. M. Ralstons Addition to the City of Lebanon.

Drainage	66.2' frontage	@ 0.416 Paid Balance	27.58

0. 0. & EHTEL MCMAINS (149-427)

Lot 3, Block 21, J. M. Ralstons Addition to the City of Lebanon.

Drainage	225.31' frontage	@ 0.416 Paid Balance	<u>93.</u> 9 3.
		Balance	-

WILLIAM P. & CARMA WALLACE LANNING (141-122)

Lot 4, Block 26, J. M. Ralstons Addition to the City of Lebanon.

Drainage	172.3' frontage	@ 0.416	71.68
		Paid	
		Balance	

HENERY L. & DOROTHY J. CONNELLY (154-615)

59' off the East side of Lot 4, Block 26, J. M. Ralstons Addition to the City of Lebanon.

Drainage	59' frontage	@ 0.416 Paid Balance	24.54
	the second s	Datance	

A. MILDRED BOHLE (134-371)

The West $\frac{1}{2}$ of Lots 5% 6, Block 26, J. M. Ralstons Addition to the City of Lebanon.

Drainage	212.11' frontage	@ 0.416	88.24
		Paid	
		Balance	

GLEN B. MOSS(201-119)

The East $\frac{1}{2}$ of Lots 5 & 6, ^Block 26, J. M. Ralstons Addition to the City of Lebanon.

Drainage	79.5' frontage	@ 0.416	33.07
		Paid	33.07
		Balance	

J. C. & BADO E. ZIMBRICK P(61-306)(164-646)

Lot 1, Block 26, J. M. Ralstons Addition to the City of Lebanon.

Drainage	231.25'	frontage	@ 0.416	96.20
			Paid	96.20
			Balance	

RAY GLEASON (163-427)

The East $9l_2^1$ of Lot 2, Block 26, J. M. Ralstons Addition to the City of Lebanon.

Drainage	66.25' frontage	@ 0.416	27.56
		Paid	
		Balance	

ANNA BACKMAN (194-391)

The East $9l\frac{1}{2}$ ' of Lot 3, Block 26, J. M. Ralstons Addition to the City of Lebanon.

Drainage	157.75' frontage	@ 0.416	65.62
		Paid	65.62
		Balance	-

ELSIE C. LAMB (185-693)

The West $67\frac{1}{2}$ of Lots 2 & 3, Block 26, J. M. Ralstons Addition to the City of Lebenon.

Drainage	67.5' frontage	@ 0.416	28.08
		Paid	28.08
		Balance	111 1

JOHN & GRACE SWANSON & GE. E.& LELA M. MISHLER (178-245)

The West 100' of Lot 5, Block 23, J. M. Ralstons Addition to the City of Lebanon.

Drainage	166.123' frontage	@ 0.416	69.11
		Paid	69.11
		Balance	

CHRIS & FRIDOLEN MICHELS (138-648)

Let 1, Block 23, J. M. Ralstons Addition to the City of Lebanon.

Drainage	225.25' frontage	@ 0.416	93.70
		Paid	
		Balance	

JOHN S. & EDNA R. WINN (180-663)

Lot 7, Block 22, J. M. Ralstons Addition to the City of Lebanon.

Drainage	66.25' frontage	@ 0.416	27.56
		Paid	
		Balance	

LEBANON LODGE NO. 1663 B P O E (168-711)(168-713)

Lot 5 & 6, Block	22, J. M. Ralstons	Addition to the	City of Lebanon.
Drainage	291.50' frontage	@ 0.416 Paid Balance	<u>121.26</u>

ALICE WALTON & HAZEL KREIG (154-613)

Lot 2, Block 22, J. M. Ralstons Addition to the City of Lebanon.

Drainage	66.25' frontage	@ 0.416	27.56
		Paid	27.56
		Balance	

GLENN N. & ETHEL L. GILLENWATER (151-53)

Lot 3 & 4, Block	22, J. M. Ralston	Addition to the Ci	ty of Lebanon.
Drainage	291.5' frontage	@ 0.416 Paid Balance	<u>121.26</u>

ANNE & CHARLES STEINBERG (162-441)

The West 100' of Lot 8, Block 22, J. M. Ralstons Addition to the City of Lebanon.

Drainage	166.25' frontage	@ 0.416	69.16
		Paid	69.16
		Balance	

MARY RUDD (151-191)

The East 59' of Lot 8, Block 22, J. M. Ralstons Addition to the City of Lebanon.

Drainage	59' frontage	@ 0.416	24.54
1000	C. A. C.	Paid	24.54
		Balance	

BERTHA LUSHER BOOTS (185-21)

L.t 1, Block 22, J. M. Ralstons Addition to the City of Lebanon.

Drainage	225.25'	frontage		@ 0.416 Paid	
			5	Balance	

93.70

VICTOR AND ALMON E. CARLSON (137-135)

The West $\frac{1}{2}$ of Lot 5, Block 24, J. M. Ralstons Addition to the City of Lebanon; West $\frac{1}{2}$ of Lot 5, Block 28, J. M. Ralstons And Addition to the City of Lebanon.

Drainage	159.25' frontage	@ 0.416	66.25
		Paid	
		Balance	

FRANK & MYRTLE MAE BEBB(163-106)

Lots 5 & 6, Block 25, J. M. Ralstons Addition to the City of Lebanon, except the 60' off south side and the east 50'.

Drainage	181.25' frontage	@ 0.416	75.40
		Paid	
		Balance	

E. C. & MAE LINDLOW (181-81)

The East 50' of Lots 5 & 6, Block 25, J. M. Ralstons Addition to the City of Lebanon.

Drainage	50' frontage	@ 0.416	20.80
		Paid	20.80
		Balance	

L. A. MCPHERRON (480-423)

The West $\frac{1}{2}$ of Lots 1 & 2, Block 25, J. M. Ralstons Addition to the City of Lebanon.

Drainage	79.5' frontage	@ 0.416	33.07
		Paid	37.07
		Balance	

FRANK & JEWEL GODFREY (124-431)

The East $\frac{1}{2}$ of Lots 1 & 2, Block 25, J. M. Ralstons Addition to the City of Lebanon.

Drainage	212' frontage	@ 0.416	88.19
		Paid	28.19
		Balance	

LAWRENCE & ELLA LARSON (150-497)

Beginning at the Southwest corner of Lot 6, Block 25, J. M. Ralstons Addition; to the City of Lebanon; thence North 60'; thence East 159' to alley; thence South 60'; thence West to beginning.

Drainage	60' frontage	@ 0.416	24.96
	a part of the second second	Paid	24.96
		Balance	

DORA B. & ELMER FITZGERALD (150-55)(151-6)

The West 90' of Lot 8, Block 26, J. M. Ralstons Addition to the City of Lebanon.

156.25' frontage	@ 0.416	65.00
	Paid Balance	05.00
	156.25' frontage	

ELMER & MINERVA J. FITZGERALD (163-154)

The East 69' of the following; Lots 7&8, Block 25, J. M. Ralstons Addition to the City of Lebanon.

Drainage	69' frøntage	@ 0.416	28.70
		Paid	28.70
		Balance	

ROBERT J. SCHRADER (159-382)

The West 90' of Lot 7, Block 25, J. M. Ralstons Addition to the City of Lebanon.

Drainage	66.25' frontage	@ 0.416	27.56
A RECEIPTION OF THE PARTY OF	a subscription of the subs	Paid	
		Balance	

HAROLD E. & FLORENCE C. HIMERDINGER (158-469)

Beginning at the Southwest corner of Lot 4, Block 25, J. M. Ralstons Addition to the ^City of Lebanon; thence East $79\frac{1}{2}$ ' to a retaining wall; thence North line of Lot 3; thence West $79\frac{1}{2}$ ', more or less, to the Northwest corner of Lot 3; thence ^South to beginning.

Drainage	79,5' frontage	@ 0.416	33.07
		Paid	
		Balance	States of the second

VICTORIA ANDRES (160-127)

Beginning on the West line of a retaining wall $79\frac{1}{2}$ ' East of the Southwest corner of Lot 4, Block 25, J. M. Ralstons Addition to the City of Lebanon; thence North to a point on the North line of Lot 3, Block 25; thence East to the Northeast corner of Lot 3; thence South to the Southeast corner of Lot 4; thence West to beginning.

212' frontage	@ 0.416	88,19
	Paid	88.19
	Balance	
	212' frontage	Paid

OLIVER E. GUNDERSON (141-315)

Beginning at the Northwest corner of Lot 5, Block 6, Park Addition to the City of Lebanon; thence North to Isabella Street; thence East 108', more or less, to a point 70' West of the the Northwest corner of Lot 1, Block 5, Kirkpatricks 3rd Addition to the ^City of Lebanon; thence South 148', more or less, to the North line of Block 6; thence West to beginning.

Drainage	237.48	frontage	@ 0.416	98.79
			Paid Balance	

ANNA E. GLEM W(5-296)

Beginning 90' East of the Northwest corner of Lot 5, Block 6, Park Addition to the City of Lebanon; thence North 148'; thence East 90'; thence South 148'; thence West to the place of beginning and containing 0.31 acre.

Drainage	88' frontage	@ 0.416 Paid	36.61
		Balance	

CHESTER E. & ALICE A. LUCAS (202-516)

Lot 1, Block 2, Burtenshaws Addition to the City of Lebanon.

Drainage	161.5' frontage	@ 0.416	67.18
		Paid	
		Balance	

EDWIN H. BOHLE (112-512)

Beginning at a point 60' East and 34' South of the Southeast corner of the J. M. Ralstons Addition to the City of Lebanon; thence North 113.75'; theme East 150.5'; thence South 9'; thence West 75'; thence South 130'; more or less, to the North line of Grant Street; thence Northwesterly along the North line of Grant Street 79.6' to beginning.

Drainage

193.35' frontage

@ 0.416 Paid Balance 80.43

J. C. MAYER (144-75) (97-173) (99-536)

Beginning 265' South and 390' East of the Northeast corner of Block 2, Burtenshaws Addition to the City of Lebanon; thence North $132\frac{1}{2}$ '; thence West 66'; thence South $132\frac{1}{2}$ '; thence East 66' to beginning and being Lot 10 of said Block 3.

Beginning 280' East of the Northeast corner of Block 2, Burtenshaws Addition to the City of Lebanon; thence South $132\frac{1}{2}$ '; thence East 110'; thence South $132\frac{1}{2}$ '; to the center line of Lebanon-Santiam Canal; thence Northeasterly along the canal to a point due East of point 30' North of beginning; thence West 145', more or less, to a point 110' due East of a point 30', North of beginning; thence South 30' to a point due East of beginning thence West 110' to beginning. except right of way of canal.

Beginning 390' East of the Southeast corner of Block 2, Burtenshaws Addition to the City of Lebanon; thence North $132\frac{1}{2}$ '; thence West 66'; thence South $132\frac{1}{2}$ '; thence East 66' to beginning.

Drainage	225' frontage	@ 0.416 Paid Balance	93.60
----------	---------------	----------------------------	-------

LEROY E. & MAXINE ABRAHAM (175-531)

Dra

Beginning 60' East of the Southeast corner of Lot 5, Block 1, Kirkpatricks 3rd Addition to the City of Lebanon; thence East 54.5'; thence North & the South lie of Isabella Street; thence West 54.5'; thence South to the place of beginning.

ainage	199.29' frontage5	@ 0.416 Paid Balance	82.90
		Balance	

E. F. & LOLA E. RUCKER (159-641)

Beginning $114\frac{1}{2}$ ' East of the Northeast corner of Let 5 in Block 1, Kirkpatricks 3rd Addition to the City of Lebanon; thence South 148'; thence East 166'; thence North 148'; thence West 166' to the place of beginning and contg. 0.56 acre.

.

Drainage	166' frontage	@ 0.416	69.06
		Paid	. 69.00
		Balance	

L. A. & MABLE HENSON (162-535) Beulah miles

Beginning East 280.5' from the Southeast corner of Lot 5, Block 1, Kirkpatricks 3rd Addition to the City of Lebenon; thence East to the West line of Cleveland Street if extended South; thence North 148'; thence West along the South line of Isabella Street to point due North of beginning; thence South 148' to the place of beginning.

Drainage	201.82' frontage	@ 0.416 Paid	83.96
		Balance	

BELLE MCBURNEY (178-591)

The West $\frac{1}{2}$ of the following: Beginning East 280.5' from the Southeast corner of Lot 5, Block 1, Kirkpatricks 3rd Addition to the ^City of Lebanon; thence East to the West line of Cleveland Street if extended South; thence North 148'; thence West along the South line of Isbbella Street to a point due North of beginning; thence South 148' to the place of beginning.

Drainage	54.75' frontage	@ 0.416	22.78
		Paid	22.78
		Balance	-

RALPH CRUSON (117-541)

Lots 1, 2, 3 & 4, Block 6, Park Addition to the City of Lebanon.

Drainage	132' frontage	0.416	54.91
		Paid	54.91
		Balance	

Section III. That the Recorder of the City of Lebanon be and she hereby is ordered and directed ton enter immediately in the docket of City Liens of the City of Lebanon, a statement of each assessment made, declared and levied by this Ordinance, together with the names of the respectige owners or reputed owners and the description of such lots and tracts of land hereinabove described, in the manner, as provided by the Charter; and to give notice forthwith to the owners of all of said property as to said assessments, in the manner provided by the Charter of the said Gity of Lebanon.

Section IV. That the said "ity of Lebanon having seriously depleted its funds, and this Ordinance thefefore being required for the peace, health and safety of the said ^City, an emergency is hereby declared and said Ordinance shall be in full force and effect immediately upon its passage by the ^Council and approval by the ^Mayor.

Passed by the Council and approved by the Mayor on the 39th day of March, 1949.

ATTEST:

I, Ernest Whitcomb, certify that I have inspected the work done by the contractor on Drainage District No. 1, and that the work has been done strictly in accordance with the plans and specifications, and on behalf of the City of Lebanon, I have approved and accepted this work.

Dated this 19th day of April, 1949.

nd. City Engineer